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- 1,312,735
S32HYSMEIA XA 697,613 510,929 186,684
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o 158 & 26,4003 x1CH+128 317
o 308 & 54,9003 +2CH 123 1,318
OUXE=sE Uz 99,000& 1L~ 128 1,188
OHWADD U= 11,000& =20 123 264
OZMEM U= 18,000 »8CH =12 1,728
Ofo&dd 9l 200,000& =122 2,400
02 =224l 166,780 161,300 5,480
OFALAIZ 2tel 2 bl 166,780
o BAL HIIRS 5,000,000& x12& 60,000
o AL tARSB 2,200,000& x12& 26,400
o EAt &ot=E 23 600,000 12 7,200
o RER=S 900,000& »12& 10,800
o RETEERS 19,290& 128 232
o Xt& S Xl 2,200,000 »5CH 11,000
o AIEZEHIRXIH S 16,000,000& *0.9 14,400
o USRERES 1,500, 000& * 13| 1,500
o AYOHMEL Y EY 300,000& x12& 3,600
o &YUOHMEZ HI 48,0003 x13] 48
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201 Bt A | 10,622 10,622 0
01 AP 2t 2l Yl 10,622 10,622 0

OQIEL+E AA oM 30& *10,00000 0.9 270
Oolagz A2 F7¢ 8,342
o El 308,000& *23J1 *0.9 6,376
o SAEX 22,000& *58F A %122 x0.9 1,188
o JIEtAR2E S 864,000& *0.9 778
OQsI| A2F (Y3, 22 8)
600,000& *0.9 540
Odlg3te &) dXtz 132,000 132
OXEINEZNM =2 876,000& 876
OALXHZMA I 2AMEIA 462,000 462
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101 2124 d| 23,237 26,915 N 3,678
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03 S ALS H b 2,500 2,500 0
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2,500,000& x13] 2,500
307 212t01 & 6,300 6,300 0
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KA SSHAASTAIL (00l S0 LAS) 8,000 8,000 0
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- 2,000
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= 1,000
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14,2153 «30A1 2t 1H 128
140,000 18 x12&
4,422,532 »1H *1/30+13
40,0003 x1H 12
5,584,740 1
65,0003 x1H «12&

ANLoRAR2H(SLEI)

69,278,000 x1&
1,312,000 18« 128
14,2153 x30AI 2tx 1P« 128
140,000 18 123
4,170,535% 1 *1/30+13
40,0003 x1H 12
5,584,740 x1H
65,0003 x1H « 12
KO DAL 2 (EHOJ AL)
68,355,000 x1€&
1,312,000& x1H 12
14,2153 x30AI 2tx 1P« 12&
140,000 18 x12&
4,114,971 »1H *1/30% 13
120,000 1« 122
5,584,740 1Y
65,0003 x1H «12E
Kl 2o 2 AL 2H(XI Dt AL)
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o vtraaY 104,352 *1H 15 1,566
o Hl&AZESY 50,000& *x1H x12& 600
OZ22Z QAHH(HNSEXZH 18, 452) 45,392
oJdle2 2,311,690& x 1 x12& 27,741
0o ZNH2RAY
12,4003 *1.5%x1H *x30Al 2t x 122 6,696
o dHZAHI 140,000& x 1G9 = 12& 1,680
o @& S| 2,774,020& x1H 2,775
o RIEsY 140,000& x1H ~12& 1,680
o dz2xY 2,311,690& 2,312
o JIExY 20,000& x1H x12& 240
o vtRaaxY 99,200& x1H » 15 1,488
o Hl&AZESY 65,000& *1H x12& 780
04 JI2ZtH 22 XNEE S 120,848 114,656 6,192
OJIZtHZ22 X 4UBEE =2 120,848
o =013 1,081,212,320& *4.5% 48,655
o A&AEH 1,081,212,320& *3.495% 37,789
o LI QABE =
1,081,212,320& *3.495%*12.27% 4,637
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
OSEHLSTUANY g2FA 1,000, 000& 1,000
= 500
Al 250
- 250
OULEBIS KYBAANY AREA
700,000 700
= 350
Al 175
T 175
301 LetEA = 91,000 91,000 0
= 45,500
Al 22,750
T 22,750
01 Al 2 & X =>5l = 91,000 91,000 0
OZAEAAMNG ESAFHI 91,000,000& 91,000
= 45,500
Al 22,750
- 22,750
307 glztol & 78,000 78,000 0
= 39,000
Al 19,500
- 19,500
01 dzd 2= 78,000 78,000 0
Odrgada g A8428 2
a 4,000,000& 4,000
= 2,000
Al 1,000
- 1,000
O M L (H=2H, SAkH)
64,000,000& 64,000
= 32,000
Al 16,000
- 16,000
OSALZIAMNY A5A2F Y (Sd2d
E L BEHAN E) 10,000, 000& 10,000
= 5,000
Al 2,500
- 2,500
NAAMEES ST AbIA 311,917 299,605 12,312
= 152,232
Al 76,116
- 83,569
101 @124 8] 84,853 75,103 9,750
= 38,700
Al 19,350
- 26,803
04 DIt 22 XS+ 84,853 75,103 9,750
OJNIZHMZ22 A AAHBI (SHYE AL 77,400
oJdl=zs 2,000,000% x4 «9I1 & 72,000




2N

2

Ha: 0l
=
s

Sl FUAASTAHYIA X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 36,000
Al 18,000
T 18,000
o E&HI 50,000 »4% 94 & 1,800
= 900
Al 450
- 450
o ==& S 100,000& 4 901 & 3,600
= 1,800
Al 900
T 900
OJIZtH 22X UHELIS NS 7,452,500 7,453
201 et 58,262 66,550 A 8,288
= 29,132
Al 14,565
T 14,565
01 At 2teltl 43,650 43,650 0
OEE oIM=E S 43,650,000 43,650
= 21,826
Al 10,912
T 10,912
02 =224l 1,200 900 300
O3HIEd o2z 100,000& =12 1,200
= 600
Al 300
- 300
03 A2 S HI 13,412 22,000 A 8,588
O=¢ us ¥ 8¢ g 24
13,412,000& 13,412
= 6,706
Al 3,353
- 3,353
202 4l 1,200 1,440 A 240
= 600
Al 300
- 300
01 S LHOYI 1,200 1,440 A 240
Oz=HAY ESZ 0 1,200,000& 1,200
= 600
Al 300
T 300
203 YR =& 750 750 0
2 374
Al 188
- 188
03 A FXH R =AY 750 750 0
O3HAIY gR2F2 750,000& 750
= 374




AYST D
FolME ALY XK
FUALSETAMEIA X (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 188
T 188
301 LEHZ 105,120 82,080 23,040
= 52,560
Al 26,280
- 26,280
12JEEd= 105,120 82,080 23,040
HINEd =2 105,120, 000& 105,120
= 52,560
Al 26,280
T 26,280
307 21201 A 61,732 73,682 211,950
= 30,866
Al 15,433
- 15,433
01 92724l 61,732 73,682 211,950
Oz3gExXAE 5 7Y 61,732,000 61,732
= 30,866
Al 15,433
T 15,433
gEAd2el MHlA X3 343,626 229,866 113,760
= 171,813
Al 85,907
- 85,906
101 @14 dl 280,776 229,866 50,910
= 140,388
Al 70,195
- 70,193
04 JIZHHZ2XRHEE S 280,776 229,866 50,910
OYEBAHed ol 263,066,000 263,066
= 131,533
Al 65,767
- 65,766
OJIZHZ22X HELSIEHE= 17,710,000 17,710
= 8,855
Al 4,428
2 4,427
201 £B-2%H| 2,850 0 2,850
= 1,425
Al 712
- 713
01 At 2t 2l 1,650 0 1,650
Og==22d4 NM&3J1FF)| det
37,500& 128 450
= 225
Al 112
- 113




<

n0

Kio

Hl w

1,200

60,000

60,000

2,500

2,500
2,500

N43,346

H3r
Wikd
RIS

1,960

1,960

1,960

157,724

23,150

3,150

Off &t 24

1,200

600
300
300
1,200
1,200

i

Al
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60,000
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fir

Al

fir
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15,000
60,000

Al

60,000
30,000

fir

15,000
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Al
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490
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fir

Al
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490
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fir

Al

1,960

980
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fir

Al
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2,500
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i
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Al
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ulo
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0B
oJ
oll

el
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02021

&

1,960,000

0Fr
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o]
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<J

K0
al

Kk

=3
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oJ

80
0H
oJ
oll

2tely

01 At
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-

AU
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21«51

e

500,000
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AN A2SE D
HE: PoIME AASH X
Sl BZEA A2AY XS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 25
203 R =&l 200 200 0
= 100
Al 50
- 50
03 Al F=XH R =AY 200 200 0
OXS AR AL ZAL =& 200,000 200
= 100
Al 50
- 50
307 21201 A 68,438 68,434 4
= 34,219
Al 17,110
T 17,109
05 RIZt2IEt = 68,438 68,434 4
OXHAS 242 = AFAF HI 68,438,000 68,438
= 34,219
Al 17,110
T 17,109
SMEH F3X L ZNEA 2 2,798,162 2,333,605 464,557
=2 249,880
Al 1,852,403
- 695,879
HARL2 Als=Hl X 406,800 366,800 40,000
Al 305,100
- 101,700
307 21201 A 406,800 366,800 40,000
Al 305,100
- 101,700
01 222l 406,800 366,800 40,000
O Al X2 406,800,000 406,800
Al 305,100
- 101,700
stojot HAXZ XNJALY 60,000 24,000 36,000
Al 30,000
T 30,000
307 glz2+ol & 60,000 24,000 36,000
Al 30,000
- 30,000
01 22724l 60,000 24,000 36,000
Ogtoek H4dx s XA 60,000,000& 60,000
Al 30,000
- 30,000
NEXEE MIMEIA SXAS (A2 A M0 22 1,340,986 1,340,986 0
2l X2AL)
Al 1,139,838
T 201,148




SN ALY
MM POIME AYEH XY
Sl BAFE FM U 2XRA e (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
308 XHXIEHSO|A 1,340,986 1,340,986 0
Al 1,139,838
- 201,148
112/ 2SUHUSHEAEAE A Y| 1,340,986 1,340,986 0
OMBAMOF A2 XA BILX™IIZ 0l
= 1,340,986,000& 1,340,986
Al 1,139,838
- 201,148
MDAIMOF A2 XJAY 170,250 0 170,250
101 e1214| 14,100 0 14,100
04 JI2ZtHIZ22NEES 14,100 0 14,100
OJI2tH 22 A 2124 d] 14,100,000 14,100
308 XAHXIGHH SO0l & 156, 150 0 156, 150
11 2I2SHUSHEAXERAEASH] 156, 150 0 156, 150
OAtZ Ao A2 22| X3 A2 Hl Ol E
208,200,000& *0.75 156, 150
ADAMOF A2 AHA 20222 XA 208,890 142,000 66,890
Al 208,890
307 2iz2to| & 208,890 142,000 66,890
Al 208,890
01 sd =t 208,890 142,000 66,890
OMDAIMOF AL 22 MHEIA 282 X
208,890,000& 208,890
Al 208,890
= R202H =8 ME 2,528 2,528 0
= 1,264
Al 632
- 632
308 AHXIEHSOIA 2,528 2,528 0
= 1,264
Al 632
- 632
112 2SUHUSHEAEAE A Y| 2,528 2,528 0
Oz 2UNHEH =& HZ 2,528,000& 2,528
= 1,264
Al 632
- 632
DS A ol2H| XHAH 56,000 32,000 24,000
= 28,000
Al 14,000
5 14,000
307 giztol A 56,000 32,000 24,000
= 28,000
Al 14,000
- 14,000




AN A2SE D
HE: PoIME AASH X
Sel BATY I U 2XLA 22 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 22272l 56,000 32,000 24,000
OnASLUNR ozH XA 56,000,000& 56,000
= 28,000
Al 14,000
- 14,000
FAEME LASL o ZH XR AL 7,000 3,600 3,400
= 3,500
Al 1,750
T 1,750
308 XtXIEHH SOl A 7,000 3,600 3,400
= 3,500
Al 1,750
T 1,750
3 2SOHEHE & X 2 E AL I 7,000 3,600 3,400
OFAENE AEL ozH X
7,000,000& 7,000
= 3,500
Al 1,750
- 1,750
28022 SR0IFAE X 8,000 6,000 2,000
= 6,400
Al 800
T 800
308 XtXIEHH SO0l A 8,000 6,000 2,000
= 6,400
Al 800
T 800
M3 2SOoHetE & X A HI 8,000 6,000 2,000
O 253X SR0LFEH WE
8,000,000& 8,000
= 6,400
Al 800
- 800
FRotA2HE FR2e2ltl 1,500 1,500 0
= 1,200
Al 150
T 150
201 Let24E] 1,500 1,500 0
= 1,200
Al 150
T 150
01 At 22l 1,500 1,500 0
OgRrotd2zd3d 2= MAH  1,500,000& 1,500
= 1,200
Al 150
- 150
20t YL FLAAH XA 5,380 6,500 21,120




AN A2SE D
Ha: PoME AASH W
SR BANY M Y 2XRA e CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 7,304
Al 538
T 538
307 i+l & 5,380 6,500 A1,120
= 4,304
Al 538
T 538
01 2z2L =4l 5,380 6,500 A 1,120
OZR0t LA 3LUHAHI 5,380,000 5,380
= 4,304
Al 538
- 538
Ol=0t & dFH0I&0F =8l X&A 40,000 56,000 216,000
= 20,000
Al 10,000
- 10,000
307 21201 A 40,000 56,000 216,000
= 20,000
Al 10,000
- 10,000
01 92724l 40,000 56,000 216,000
Olbls0t & 834d0l&0t =2 HI K&
40,000,000& 40,000
= 20,000
Al 10,000
- 10,000
S SHALOIA ZAH & & ot2tel 30,000 36,000 26,000
= 15,000
Al 7,500
- 7,500
307 21201 A 30,000 36,000 26,000
= 15,000
Al 7,500
- 7,500
01 92724l 30,000 36,000 A 6,000
OW&SHAIOl & 2 A 2 Btob22idl XI&
30,000,000& 30,000
= 15,000
Al 7,500
- 7,500
HdELEHEZA 2 BHIIXA 10,000 14,000 24,000
= 5,000
Al 2,500
- 2,500
307 21201 A 10,000 14,000 A 4,000
= 5,000
Al 2,500
- 2,500




SN ALY
M JoME AYSE X
SR BANY M Y 2XRA e CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 22272l 10,000 14,000 A 4,000
Odl Mo H2AHEAAH K& 10,000, 000& 10,000
= 5,000
Al 2,500
- 2,500
HAEE JIIMA € ZMEs X 313,000 191,600 121,400
= 156,500
Al 78,250
T 78,250
307 21201 A 313,000 191,600 121,400
= 156,500
Al 78,250
T 78,250
05 RIZt2IEt = 313,000 191,600 121,400
ONMASESE JIMAH &€ ZH2= A&
313,000, 000& 313,000
= 156,500
Al 78,250
- 78,250
HAEE IR0 S2HM X2 7,070 7,070 0
307 21201 A 7,070 7,070 0
01 922724l 7,070 7,070 0
OMASEE RIS LHAA 7,070,000 7,070
X Adzzel XA 14,179 10,179 4,000
201 Let24d] 10,804 6,804 4,000
01 At 2teltl 4,000 0 4,000
OMgEE & 425 ¢ 4,000,000& 4,000
03 A2 I 6,804 6,804 0
ORX AZ UK 6,804
o &R0t RF2WA = 2 150,000 67| *4 3,600
o 88 ¥ Z2Y I S
534,000& *67| 3,204
307 glz2tol & 3,375 3,375 0
01 2222l 3,375 3,375 0
OBl A2F& XIJ 2500031500 H 0.9 3,375
SAUEAAME ExEH X 19,123 11,386 7,737
= 8,712
Al 4,355
T 6,056
101 124 dl 19,123 11,386 7,737
= 8,712
Al 4,355
T 6,056
04 JI2ZtHZ22HEE =+ 19,123 11,386 7,737




M A2 S
MM POIME AYEH XY
Sel BATY I U 2XLA 22 (S &2)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZXNEAHAY B=xlaEy| 17,423,000& 17,423
= 8,712
Al 4,355
T 4,356
OJIZtH 22X XHgEdzEA 1,700,000& 1,700
QA Eo A2 2e] X3 95,256 79,256 16,000
Al 47,000
- 48,256
101 1A dl 13,256 13,256 0
Al 6,000
- 7,256
04 JIZtHZ2XNHEE S 13,256 13,256 0
OR2iZzed XA 12,000, 000& 12,000
Al 6,000
T 6,000
OJIZtHl 22X MHELd=EH 1,256,000 1,256
201 Let24d] 22,000 22,000 0
Al 11,000
T 11,000
01 At 22l 17,500 15,000 2,500
OsdEAXNIANY sE2 7 17,500, 000& 17,500
Al 8,750
T 8,750
03 &Ar2 I 4,500 7,000 A 2,500
OsMEAXNH T2 2Y 4,500,000 4,500
Al 2,250
- 2,250
307 21201 A 60,000 44,000 16,000
Al 30,000
- 30,000
01 222l 60,000 44,000 16,000
o, s¢ =ot23 N 60,000,000& 60,000
Al 30,000
T 30,000
[-Mom &tEH 222l X2AEY 2,200 2,200 0
Al 1,100
T 1,100
201 LBr2E| 2,000 1,500 500
Al 1,000
T 1,000
01 At 2t 2l 2,000 1,500 500
OMgER & 428 7¢ 2,000,000& 2,000
Al 1,000
- 1,000
307 21201 A 200 700 A 500
Al 100




5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
- 100
o1 s R=dl 200 700 A 500
OYS2US A B EFHl X 200,000& 200
Al 100
- 100
FAH=S 2 XA 1,180,996 1,142,305 38,691
= 463,396
Al 420,155
5 297,445
=J} 2rate| 487,700 453,758 33,942
= 242,900
Al 121,450
5 123,350
101 @1 21| 9,660 9,662 A2
= 3,880
Al 1,940
5 3,840
04 JI2tHI22XNSESE S 9,660 9,662 A2
ORMSAFAY SEQI 012
7,760,000 7,760
= 3,880
Al 1,940
- 1,940
OJIZtMZ2 2 X MHgEUA=2282 1,900,000 1,900
308 XX EHSO|IA 478,040 444,096 33,944
= 239,020
Al 119,510
- 119,510
112 2SHUSHEMNEAEAISY 478,040 444,096 33,944
OIS H T ALY 478,040,000 478,040
= 239,020
Al 119,510
- 119,510
=} 222 & ALY 9,800 9,800 0
201 gEt24Hy| 9,800 9,800 0
01 AP 2t 2] H| 2,000 2,000 0
O=2JF dHEX =2 2HH| (LY s)
2,000,000& 2,000
02 232%H4| 7,800 7,800 0
OH& Hatx SEESH|
595 8,000 +380 8,000 7,800
StEt At oS HI A 260,428 242,516 17,912
Al 195,321
- 65,107
307 gizto| A 260,428 242,516 17,912
Al 195,321




AN A2SE D
MM POIME AYEH XY
Sl FHOUHS A CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 65,107
01 222724l 260,428 242,516 17,912
ogatkt ozl 260,428,000 260,428
Al 195,321
- 65,107
THOote2tel 8,390 8,390 0
Al 6,293
- 2,097
201 Let2d] 1,390 1,390 0
Al 1,043
2 347
01 At 22l 1,390 1,390 0
Oos2sEs #¢¥¢ 1,390,000& 1,390
Al 1,043
T 347
307 glz2tol & 7,000 7,000 0
Al 5,250
- 1,750
01 2222l 7,000 7,000 0
Oz L2B2E 72¢ 7,000,000& 7,000
Al 5,250
T 1,750
S HEE A=ZHI XA 370,820 386,432 A 15,612
= 185,410
Al 92,705
- 92,705
308 XXM SOIA 370,820 386,432 AN 15,612
- 185,410
Al 92,705
T 92,705
13 2SOHetE & X 2 E AL I 370,820 386,432 215,612
OsH&E & 2=dl XA 370,820,000 370,820
= 185,410
Al 92,705
- 92,705
AT SUH-Z AR LetALZ A 43,858 41,409 2,449
2 35,086
Al 4,386
- 4,386
308 MtXIEHMSOIH 43,858 41,409 2,449
=2 35,086
Al 4,386
- 4,386
113 2SoHUHSBHEAEALS I 43,858 41,409 2,449
OARIO+2AN LUABAA
43,858,000 43,858
= 35,086




)Y

ST
DIME AUSE X &
%N B &

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

Al 4,386
- 4,386

AA2 22 AL 1,926,226 1,791,902 134,324
= 678,038
Al 623,718
- 624,470

MAULEXHEH A 51,100 184,224 N 133,124
= 25,550
Al 12,775
- 12,775

307 2Iz2t0| & 51,100 184,224 N 133,124
= 25,550
Al 12,775
- 12,775

05 QIZ2tREF 2 51,100 184,224 N 133,124
OFNAHLEXHE 2 51,100,000 51,100
= 25,550
Al 12,775
5 12,775

HBUHUSAHEYH HEEHS 615,132 363,240 251,892
= 307,566
Al 153,783
- 153,783

307 gizto| A 615,132 363,240 251,892
= 307,566
Al 153,783
- 153,783

05 QIZtRES 615,132 363,240 251,892
OFANAHAUEI ALY CSEESE 615,132,000& 615,132
= 307,566
Al 153,783
- 153,783

OlSEAYE HABAHAY 13,300 52,294 A 38,994
= 6,650
Al 3,325
- 3,325

307 212t0| & 13,300 52,294 N 38,994
= 6,650
Al 3,325
- 3,325

05 QIZ2tREF 2 13,300 52,294 N 38,994
Olls&aAY HBAUBEAHAYE 13,300,000 13,300
= 6,650
Al 3,325
- 3,325

A0 &AM 40,720 40,720 0
= 20,360




AN A2SE D
M JoME AYSE X
Sl AL BRI AL CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,180
T 10,180
307 glz2tol & 40,720 40,720 0
= 20,360
Al 10,180
T 10,180
05 RIZHRI &t 3 40,720 40,720 0
OXH& 0l 2 AH 40,720,000& 40,720
= 20,360
Al 10,180
- 10,180
Ao ALY elAXA 35,488 0 35,488
= 17,744
Al 8,872
- 8,872
307 21201 A 35,488 0 35,488
= 17,744
Al 8,872
- 8,872
05 RIZt2IEt = 35,488 0 35,488
OXaMEAE X2 35,488,000 35,488
= 17,744
Al 8,872
T 8,872
K& Ol AL X HIX& 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
05 RIZIRI & 3 30,000 30,000 0
OMIES HAUAHL 2= Mzl
5,000,000 5,000
OXaNeg 22, U] S 10,000, 000& 10,000
OlRAg= Z20d8 23 S 15,000, 000& 15,000
HaRs FAASAHUH A XA 44,500 42,500 2,000
= 22,250
Al 11,125
- 11,125
307 21201 A 44,500 42,500 2,000
= 22,250
Al 11,125
T 11,125
05 BIZERIE 3 44,500 42,500 2,000
Ot R=E AASHEHA XA
44,500,000 44,500
= 22,250
Al 11,125
- 11,125
s=2c SENEH 29 182,980 181,021 1,959




2N
X ZH -
L= B

el

STEFIn
DIME AAES
MAYBRIAY

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 82,490
Al 41,245
T 59,245
307 i+l & 182,980 181,021 1,959
= 82,490
Al 41,245
T 59,245
05 RIZHRIE 3 182,980 181,021 1,959
OEs2eol SEXNVME 2Y(2X)
164,980, 000& 164,980
= 82,490
Al 41,245
T 41,245
ossa dIEH 2 (XHA)
18,000, 000& 18,000
=Xt s 8= 100,000 100,000 0
= 50,000
Al 50,000
307 glz2tol & 100,000 100,000 0
= 50,000
Al 50,000
05 RIZHR & 100,000 100,000 0
Ok=ht =X Atddl2tel At I
100,000, 000& 100,000
= 50,000
Al 50,000
FATHEANE 24 501,398 501,398 0
Al 250,699
- 250,699
307 gl2tol & 501,398 501,398 0
Al 250,699
- 250,699
05 BIZHRI & 501,398 501,398 0
OFATH 501,398
o3 OlBAE 22 (d=MSel
) 298,198,000& 298,198
Al 149,099
- 149,099
ogD FHAE 2 (2ldel)
141,000,000 141,000
Al 70,500
- 70,500
o3 SSMEAL 2 (ol Tl st
A 62,200,000& 62,200
Al 31,100
T 31,100
FAEER X=H X3 24,856 65,765 240,909
= 12,428




2N
X ZH -
L= B

el

SRS
DM ALST X
AAL BRI ALY

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 6,214
T 6,214
307 glz2tol & 24,856 65,765 A 40,909
2 12,428
Al 6,214
T 6,214
01 2=2L =4l 24,856 65,765 A 40,909
OFAMZEI Xzl XA 24,856
o Bu&EET ZRIIXZE - N&A 1,492,000 1,492
2 746
Al 373
T 373
o HFUA X=Hl XA 19,884,000& 19,884
= 9,942
Al 4,971
= 4,971
o s=2& HE XA 2,480,000 2,480
2 1,240
Al 620
T 620
o leixlZHl K& 1,000,000 1,000
= 500
Al 250
- 250
FalAzd el XM AR 11,752 9,140 2,612
201 Let2d] 4,320 1,820 2,500
01 At 22l 1,820 1,820 0
OTAUALLAMNARYE 2EH 840,000& 840
OQIZtRE Mo 2+ 980,000 980
02 2=22Z 4l 2,500 0 2,500
Oxg |l 1,200,000 1,200
OX&&dEdl & KXl 400,000& 400
Oxg B8z, HAsXHH S 900,000 900
203 YR =] 900 900 0
03 Al Z=X AR =LY 900 900 0
OFAEAHAAMG Hd2F 900,000 900
307 glz2tol & 6,532 6,420 112
01 =2 =4l 3,000 3,000 0
OFAMBAHAMNY BEXUE 2 3,000,000& 3,000
05 QI &t 3 3,000 3,000 0
OgIaSES=X g NE ALY
3,000,000& 3,000
10 ALSISXAIEEER2IHEX 532 420 12
OAtgI =S XA B0 =8l XI& 532,000& 532
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- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 266,000 0 266,000
2 133,000
Al 66,500
- 66,500
05 QIZ2tRE 2 266,000 0 266,000
OseHLSEAL 266,000,000& 266,000
= 133,000
Al 66,500
5 66,500
XIOH 22l AF 1,071,481 865, 152 206,329
= 395,342
Al 154,982
- 521,157
X O Xl = 2teldl X& 140,752 140,752 0
Al 105,564
- 35,188
308 XNXIGHHMSO0I& 140,752 140,752 0
Al 105,564
- 35,188
11 Z2I|2S00sE & 140,752 140,752 0
OXIHXIESHl X& 140,752,000 140,752
Al 105,564
- 35,188
RN A ME 2 491,880 395,540 96,340
= 393,504
Al 49,188
- 49,188
101 e1214| 23,600 23,600 0]
= 18,880
Al 2,360
- 2,360
04 J|12ZtHIZ22NEES 23,600 23,600 0
OXIOHHAI ME & EH
20,100
= 16,080
Al 2,010
- 2,010
OJIZ2ZtM 22X X8 3,500
= 2,800
Al 350
- 350
201 LBt | 353,940 268,840 85,100
= 283,152
Al 35,394
- 35,394
01 AP 22| d| 241,220 176,620 64,600




0¥

[}
=

24Ty
=]
0z 0

SN FH-SA(EN) - MBAY - BES
OXIHRHAMHIE AIRES & M2
21,000
OXIHAIY 2228 & 17 7¢
60,000,
OZzY 2ZES s 7¥ 62,000,
O3J183FJ|l g #©E| 26,000,
O<fIEu=Hl 500,

OXSAIE M A& A =& 1,120,

OXI0HAMY 2102 60,000,

OXloHeraOtE w=Hl 10,600,
02 S2=29Hl

OHNAS3 = 10,600,

OXtg= Xl 2 el 3,600,
03 #Ar2EHI

OgAMNEEEHI 40,800,

OZAZ 45,720,

,000&

000&

000&

000&

000&

000&

000&

000&

000&

000&

000&

000&

H

Al

H

Al

H

Al

H

Al

H

Al

H

Al

W

Al

H

Al

H

Al

H

Al

H

Al

H

21,000
16,800
2,100
2,100

60,000
48,000
6,000
6,000
62,000
49,600
6,200
6,200
26,000
20,800
2,600
2,600
500
400

50

50
1,120
896
112
112
60,000
48,000
6,000
6,000
10,600
8,480
1,060
1,060

14,200

10,600
8,480
1,060
1,060
3,600
2,880

360
360

98,520

40,800
32,640
4,080
4,080

45,720
36,576

=

i
2m




2N

X{ XH -
S =

04

2]
e
e 0z O

2 XI0H At ed (&)
= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 4,572
T 4,572
OXIoHetalols =24l 12,000, 000& 12,000
= 9,600
Al 1,200
T 1,200

202 044l 12,240 12,000 240
2 9,792
Al 1,224
- 1,224

01 = LH o4 1l 12,240 12,000 240
OXIHetadEH &2 ol 12,240,000& 12,240
2 9,792
Al 1,224
- 1,224

203 YR =&l 1,500 1,500 0
2 1,200
Al 150
- 150

03 AIHF=XH R =AY 1,500 1,500 0
OXIHeta ey = 1,500,000& 1,500
= 1,200
Al 150
- 150

301 LA F 46,100 46,100 0
= 36,880
Al 4,610
T 4,610

12JIE243 46,100 46,100 0
OgdoAt=H 33,600,000 33,600
= 26,880
Al 3,360
T 3,360
OXNJSALA AHl 24 12,500, 000& 12,500
= 10,000
Al 1,250
T 1,250

307 21201 A 54,500 43,500 11,000
= 43,600
Al 5,450
- 5,450

01 92724l 54,500 43,500 11,000
Oxs=28 ¥ 9d=22EF 2 44,500,000 44,500
= 35,600
Al 4,450
- 4,450
OXI O & &2 At 10,000, 000& 10,000
= 8,000




<

n0

Kio

Hl w

684

AB71

A 528

AN 143

A13
A13

226

226

226

110,447

2,310

2,310

108, 137
108, 137

H3r
Wikd
RIS

52,298

33,754
6,600

27,154

18,544
18,544

2,072

2,072

2,072

274,490

490
490

274,000
274,000

Off &t 24

1,000
1,000
51,614

Al

33,083

6,072
6,072

27,011

14,400
3,600
2,160

27,011

1,740
333
300

1,818
2,660
18,531
18,531
18,531

2,298

rr

1,838
230
230

2,298

Al

fir

1,838
230
230

2,298

Al

2,298

1,838

i

230
230

384,937

Al

2,800
2,800
2,800

382,137
382,137

382,137

0o

30
0p
o]
oll

128

2%

=

506,000

tel i

1
)

01 ALS

30
0H
)
Ho

128
128
128

2 *
2l *

1,200,000
300,000

FAI A 22| R X
o XIS
o JtAR

OF=

2l *

180,000

fo

A
<+
%

20

5

1
1

o

333,000
300,000

3

2l *

<
R0
K4
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vz

=

2|

=

2|

128

2| %
2,660,000

=

18,531,000

151,500
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=

S

i

o A2 &Hl = Xlbl

308 AtXIEHH
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]
o
M0
M0

(0]
el

0 =

ESEN
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=
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XIOH Zel ™A
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0
oJ
ol

tel i
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01 ALS

el
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=

o
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00
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0
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01 At 22l bl

2 +43|*10

70,000
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00
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Ed
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2N
X ZH -
L= B

el

A28
WY 2LZH (A5 )
IH2HH (AZESED)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HE2LZH (HLSE ) 694,434 747,778 A 53,344
2 444,000
Al 55,500
- 194,934
AHAIEH (AL ST ) 613,743 696,846 A 83,103
2 444,000
Al 55,500
- 114,243
A2 NRAMY(H2SE D) 58,743 55,666 3,077
101 @124l 58,743 55,666 3,077
03 SR (RIAHL)2Z2NES 58,743 55,666 3,077
OasaoAH (2sHLAHY, 1688) 58,743
oJdlzg 2,398,930 x1H+x12& 28,788
o AzZtel==2 12,8183 *1.5+80AI2tx1H 123 18,458
o =4l 140,000 x1H = 12& 1,680
o EEFItH| 2,878, 7102 2,879
o AE=+¢ 140,000& »1H «12& 1,680
o d2=¢ 2,398,930 2,399
o ItEY 60,000& x12& 720
o AltRaE+¥ 12,8183 x8AI 2Hx1H x152 1,539
o H&2RE 50,000& x1H =122 600
QIHA2HHI(XIMHAMEH 2Y) 555,000 641,180 86,180
2 444,000
Al 55,500
T 55,500
101 @124 dl 525,000 606, 180 A 81,180
= 420,000
Al 52,500
- 52,500
02 DBt B == 525,000 606, 180 A 81,180
OANASEEHAI MBS A
525,000,000& 525,000
= 420,000
Al 52,500
T 52,500
204 AR A H| 30,000 35,000 A5,000
= 24,000
Al 3,000
T 3,000
02 a2 =4 22,000 26,000 24,000
OAZEE ISR HSEXH
22,000,000& 22,000
= 17,600
Al 2,200
T 2,200




2N
X ZH -
L= B

el

ro o2 ry

S
F2gdu(A2s)
d2IH(HFsED)

= _ — d =
S HB . C(EH) - NRAY - BES %Eﬁ o
03 EZYRFHI 8,000 1,000
OANZEEHAII NS RE HESHI
8,000,000& 8,000
= 6,400
Al 800
T 800
dH(A2s& ) 80,691 29,759
JI28Hl MRAS(HZSE) 80,691 29,759
201 £B-2dH| 43,731 14,659
01 At 22/l 43,731 14,659
Oget==EH| 54,5903 *39H «12& +0.9 22,994
O=2gtl 8,000 *39H x6 41«12 x0.9 20,218
ORIAHAZ2Z X Sl
8,000 12«64 %122 +0.9 519
202 04l 25,920 12,960
01 = LH 4 Hi 25,920 12,960
OZ&d &N 10,0003 *39H 62 «12& 0.9 25,272
ORIAHAZ2X SZ I
10,0003 x1H 62 «12& 0.9 648
203 YR =&l 11,040 2,140
02 A& H 2= 3,240 880
OFAJtatg =& 40,000 81 3,240
04 EA2IYRFLH| 7,800 1,260
ORN2EYE =4I 650,000 1228 7,800




> A
A & 0l & AF 2 E A A
AN 222
S Agze| A Z2E
ool 2y el CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ayae| ot 15,075,369 8,104,896 6,970,473
= 6,663,042
Al 3,322,912
- 5,089,415
Ayl A 25 14,660,765 7,739,161 6,921,604
= 6,626,862
Al 3,304,822
- 4,729,081
g4 2el 13,749,535 6,828,098 6,921,437
= 6,446,491
Al 3,216,129
- 4,086,915
MBHAZSUHERY s & IR 3,000 3,000 0
= 1,500
Al 1,500
201 Let24d] 3,000 3,000 0
= 1,500
Al 1,500
03 A2 S HI 3,000 3,000 0
OMEH A2 2oz g8 2 &l FZ
2,900,000& 2,900
= 1,450
Al 1,450
OMEH 272 2o=d &9 M
100,000& 100
= 50
Al 50
MEHHZSUHS2H s L EHNFMLESH 6,400 0 6,400
FOHXI)
= 3,200
Al 3,200
405 XHoHF S HI 6,400 0 6,400
= 3,200
Al 3,200
01 et EZFH S 6,400 0 6,400
OMelE5 5 204 6,400,000& 6,400
= 3,200
Al 3,200
=JH0lY B4 A 6,276,332 5,518,910 757,422
= 3,138,166
Al 1,569,083
- 1,569,083
307 21201 A 6,276,332 5,518,910 757,422
= 3,138,166
Al 1,569,083
T 1,569,083
01 922724l 6,276,332 5,518,910 757,422




A 222
I g2l A Zat
el 2oy ael CEEEED
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
Ogol JtuLES N&  4,663,500,000& 4,663,500
=2 2,331,750
Al 1,165,875
T 1,165,875
Ogo =IHuLES X& 1,162,160,000& 1,162,160
2 581,080
Al 290,540
- 290,540
OAg |R53 tHoldA HEES X
396,236,000& 396,236
= 198,118
Al 99,059
- 99,059
OBE2tY &I 2 WA X
13.224,000& 13,224
= 6,612
Al 3,306
- 3,306
OYUE ST HLEES 41,212,000& 41,212
= 20,606
Al 10,303
- 10,303
HEEESSSHEH 29 30,958 30,958 0
= 13,390
Al 6,695
- 10,873
101 1248l 30,958 30,958 0
= 13,390
Al 6,695
T 10,873
04 JItNZ22XSE* 30,958 30,958 0
OHgEs SSUH 23 26,780,000& 26,780
= 13,390
Al 6,695
- 6,695
OJIZtH 22X MHEPSEHS 4,178,000 4,178
HEESAYE 28 X 150,718 129,948 20,770
101 @12 bl 28,378 8,988 19,390
04 DIt 22 XS+ 28,378 8,988 19,390
OUUESAE JI2tH 22 A 28| 25,734
0JleE3 86,6402 124 %222 x112 20,967
o Fs=¢ 86,640 x1H x4 »11& 3,813
ooiRRIToY 86,6402 x 12«11 954
OJI2tH 22X UHBAS2HZ 2,644,008 2,644
201 2Bt2 | 4,150 4,150 0
01 At 2t2ltl 3,150 3,150 0




g 22| ot
Hae| A 23S
Ay e (2 &HH)
- _ _ RE]
S C(BH) - HEAY - BAS %Eﬁ HR=2
OWXE, oOtHLHE M= & ZBIEAD| dE H
2 = 3,500,000& *0.9 3,150
02 2224 4| 1,000 1,000 0
O EA 2Hl Xl 22l 1,000,000 1,000
203 €2 F=&d| 720 720 0
03 Al ZH =X 2= XIH| 720 720 0
OCEZAHA ESAMY d2FA
800,000& 0.9 720
307 gizto| A 117,470 116,090 1,380
o1 s R=tl 117,470 116,090 1,380
OBE?Z2IE RSZMUES A
5,040 x3,000 15,120
OB2HA QIEZT} MUY E AL (CHL A S
xH) 10,0008 1,200 12,000
OB2AHA QAEZUI} MEHEE SWAIH (SEHE)
10,000 *300H 3,000
OlYE s A2 F Q! 2,000,000& 2,000
Ofeto 2l =S2E=H NI (HZIH Al
HOHQ 2N EA, JEZMELZT)
35,000& *2,410H 84,350
OsEs 2 IHEAa=Z2 K& 1,000,000 1,000
HEiSUEES XA 720,590 739,486 N 18,896
307 212t0| & 720,590 739,486 A\ 18,896
o1 s R=d| 720,590 739,486 18,896
OZEHHI0IH A 22 HEUEES AFY
641,883,000 641,883
OUMEZXN HEES HE NE MY
112,438,000 0.7 78,707
SHAIOITI GH AFH Il o Kb 24 & X &AM 2,040 2,040 0
= 2,040
307 QI2t0| & 2,040 2,040 0
= 2,040
o1 s R=H| 2,040 2,040 0
OstHIQITI| G AFZ2Y T O AF MEX| &
170,000 x 128 12 2,040
= 2,040
D29 BHAL B ZS AA(SIAH) 16,893 0 16,893
= 16,893
307 giztol A 16,893 0 16,893
= 16,893
o1 s =t 16,893 0 16,893
OZZ L9 Al FIAH P& 16,893,000& 16,893
= 16,893




AN 222
S Agze| A Z2E
ool 2y el CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DI LTS AA(REZ2I|2 HLES AR 6,542,604 6,542,604
H)
= 3,271,302
Al 1,635,651
- 1,635,651
307 21201 A 6,542,604 6,542,604
= 3,271,302
Al 1,635,651
T 1,635,651
01 92724l 6,542,604 6,542,604
OZZ2ULH9 HgEs N3 6,542,604,000& 6,542,604
= 3,271,302
Al 1,635,651
T 1,635,651
238 U 237,403 A 23,646
= 47,331
Al 35,247
- 154,825
ZEE U= 13,643 5,448
201 Let249] 11,168 5,448
01 At 22l 8,000 3,000
OZgguy =24l 1,000, 000& 1,000
OZggugnss 22 22 4,000,000 4,000
OL=¢ AstXAE A8t S - HAA E=H|
3,000,000& 3,000
02 =24l 3,168 2,448
OZZEEE HEE 23 3,168,000 3,168
203 YR =&l 675 0
03 Al =&Y R =LY 675 0
OzZggue 2= 750,000& x0.9 675
307 21201 A 1,800 0
01 92724l 1,800 0
OZgYg oYy ¥ 22 HESE 7*<
2,000,000& x0.9 1,800
AESZEE ZEAAY 139,098 AN41,268
201 L4l 31,748 A41,455
01 At 22l 25,148 A 48,055
odgdlgxr 28 =28 s #&  20,000,000& 20,000
OMHotdMiM =2 CIXNE=8I 0l8%
330,000& 128 3,960
Oodgzxlga LXNE=sEI 0l8%
99,000& x12& 1,188
02 =24l 6,600 6,600




A g2
Mz AL MH 2t
el 2y S CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OxgRIZ2A 24U ol22 50,000& x12& 600
odgts 1 = 6,000,000& 6,000
203 R F & 1,350 1,350 0
03 Al ZH =& 25 X H| 1,350 1,350 0
OdsZEY s gRF&H| 1,350, 000& 1,350
302 Ol =L THOHE & 2 16,000 16,000 0
02 QIZIoI AL ERESEAS 16,000 16,000 0
Ooz0l Baz 50,000 & *x8A| 2t x5 8= 16,000
307 QI2t0| ™ 90,000 89,813 187
o1 s R=d| 90,000 89,813 187
o9z Arazs 90,000,000 90,000
HE22ZA &9 &4 3,840 3,840 0
= 1,920
Al 1,920
307 2Iz2t0| A 3,840 3,840 0
= 1,920
Al 1,920
01 dsed =l 3,840 3,840 0
OESZAZEY 9 =)|2 24|
3,840,000& 3,840
= 1,920
Al 1,920
ool = & A (HdE 2 x2) 67,842 55,668 12,174
= 33,921
Al 32,582
- 1,339
201 gBt2Ad| 856 856 0
= 428
Al 214
- 214
01 AFR2 22| H| 856 856 0
oolol=og =22 M 856,000 856
2 428
Al 214
5 214
307 giztol A 66,986 54,812 12,174
= 33,493
Al 32,368
- 1,125
o1 s R=tl 66,986 54,812 12,174
OO0l = &CHAI2 204 4,500,000& 4,500
= 2,250
Al 1,125
- 1,125
Oulol= &X &=dl 62,486,000 62,486




AN 222
S Agze| A Z2E
el 2y S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 31,243
Al 31,243
olol= & S8 (H0H2d & XIg) 2,980 2,980 0
= 1,490
Al 745
- 745
307 glz2tol & 2,980 2,980 0
2 1,490
Al 745
- 745
01 2222l 2,980 2,980 0
O&Y AICtAISE 204 2,980,000& 2,980
= 1,490
Al 745
- 745
ozzEuId el olg2elAd 10,000 10,000 0
= 10,000
307 glz2+0l & 10,000 10,000 0
= 10,000
02 YAFHAANGFEX 10,000 10,000 0
Oozaaddae 10,000, 000& 10,000
= 10,000
Zag e 673,827 650,014 23,813
= 133,040
Al 53,446
- 487,341
SAALSALY 368,354 352,634 15,720
101 @124l 49,939 44,968 4,971
04 D12t Z22HEE = 49,939 44,968 4,971
OYgdAL=ExX 49,939
oJlEa 86,6403 x2F 222 x9H 34,310
o FFEE 86,6403 x2H 42 «0F 6,239
o AXtRa=¢ 86,6403 x2F 9 1,560
o JIZHl 22X NHELSEES
3,465,000 »2H 6,930
o Hl&2R+E 50,000& »2H +x9& 900
201 Let249H] 18,921 15,924 2,997
01 At 22l 9,071 7,796 1,275
OYAA Sl 8,000 «1H =102 «12& 960
oYY 1= 300,000 x5H »23] 3,000
OZEH= 16,5003 »3H 50
O &l &Y (GPS)Y U= 723,000 +7TH 5,061
02 232gl 9,850 8,128 1,722
OgdA &l s Xl 4,000,000& 4,000




AN 222
S Agze| A Z2E
el Ay oY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Ol =& XDl =X bl 43,7503 x88H 3,850
OZ HEJILM XHs2A KX
2,000,000& 2,000
203 Q2 =AY 675 675 0
03 AIBFXH S =AY 675 675 0
OCZEgHe d2Fa 750,000& x0.9 675
206 T 28 168,000 169,305 A1,305
01 =8l 168,000 169, 305 A 1,305
Ogdis=s SFHI 15,000, 000& 15,000
OgdAAL=s A4FHl 120,000, 000& 120,000
OdsZegE 438 & 30,000,000& 30,000
OUAALRE 3,000,000& 3,000
301 LPEHF 500 500 0
12JIE243 500 500 0
QuzHs )8y S At LI XIZH
500,000& 500
307 21201 A 127,460 106,212 21,248
05 RIZt2IE = 127,460 106,212 21,248
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